101.

Ans.
102.

Ans.
103.

Ans.
104.

Ans.

In the following question, some part
of the sentence may have errors.
Find out which part of the sentence
has an error and select the
appropriate option. I a sentence is
free from error, select ‘No Error’.

She has (1)/ reduced her
(2)/consumption to considerably
(3)/No error (4)

A. 1 B. 2
C. 3 D. 4
Cc

In the following question, some part
of the sentence may have errors.
Find out which part of the sentence
has an error and select the
appropriate option. If a sentence is
free from error, select ‘No Error’.

Liquid water cannot exist on the
surface of Mars as to low(1)/
atmospheric pressure, which is less
than 1% of Earth’s (2)/except at the

lowest elevations for short
periods.(3)/No error(4)

A. 1 B. 2

C. 3 D. 4

A

In the following question, the

sentence given with blank to filled in
with an appropriate word. Select the
correct alternative out of the four and
indicate it by selective the
appropriate option.

That is cars I know.
A. the worst

B. worst

C. mostly worst

D. one of the worst

C

In the following question, the
sentence given with blank to be filled
in with an appropriate word. Select
the correct alternative out of the four
and indicate it by selecting the
appropriate option.

The of many archaic and
dilatory procedures have proved to
be extremely damaging to our
governance and society

A. caution

B. translation
C. imposition
D. revolution
C
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Ans.
108.

Ans.
109.

Ans.
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In the following question, out of the
given four alternatives, select the
one which best expresses the
meaning of the given word.

Curtail

A Prolong
B Downsize
C. Lengthen
D Extend

C

In the following question, out of the
given four alternatives, select the
one which best expresses the
meaning of the given word.

Inference

A. Beginning
B. Conclusion
C. Preparation
D. Discovery
B

In the following question, out of the
given four alternative, select the one
which is opposite in meaning of the

given word.
Consensus

A. Accord
B. Discord
C. Consent
D. Unity

B

In the following question, out of the
given four alternatives, select the
one which is opposite in meaning of
the given word.

Mould

A. Genuine
B. Shape
C. Slice

D. Sculpt
A

Rearrange the parts of the sentence
in correct order.

In developing countries today

P : urban health conditions

Q : than rural health conditions

R : seem to be better

A PRQ B. RQP
C PQR D. QRP
A

A sentence has been given in
Active/Passive Voice. Out of four
given alternatives, select the one
which best express the same
sentence in passive/Active Voice.



Ans.
111.

Ans.
112.

Ans.
113.

The workers are building the house.

A. The house was being built by
the workers.

B. The house was built by the
workers.

C. The house is built by the
workers.

D. The house is being built by

the workers.
D
A sentence has been given in
Direct/Indirect Speech. Out of the
four given alternatives, select the
one which best expresses the same
sentence in Indirect/Direct Speech.
Sneha said to Arjun,”Go away.”

A. Sneha ordered Arjun to go
away.

B. Sneha asked Arjun that he
should go away.

C. Sneha say to Arjun to go
away.

D. Sneha inquired Arjun to go
away.

A

In the following question, a word has
been written in four different ways
out of which only one is correctly
spelt. Select the correctly spelt word.

A. Aggrression
B. Aggrresion
C. Aggression
D. Agrresson
C

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.

When the kerosene burned, the fuel

in the tank below would be
pressure, and

a small circular flame

would appear in the  burner.

The valve had to be opened to let
more kerosene vapour to the burner

and pumping resumed. With the

increase in pressure, the

burner flame would spread
a loud noise. To

lower the flame, the valve had to be
opened to reduce the

pressure and then tightened  until
the desired flame size was achieved.
you wanted the flame to
be bigger, you had to hit the piston

again. Pump stoves are still in
vogue.

below would be

pressure

A. inside B. into

Ans.
14.
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Ans.
116.

C. about D.
B
In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.
When the kerosene burned, the fuel
in the tank below would be
pressure, and
a small circular flame
would appear in the burner. The
valve had to be opened to let more
kerosene vapour to the burner and
pumping resumed. With the increase
in pressure, the burner flame would
spread a loud noise. To
lower the flame, the valve had to be
opened to reduce the
pressure and then tightened until the
desired flame size was achieved.
you wanted the flame to
be bigger, you had to hit the piston
again. Pump stoves are still in vogue.

under

and a small circular
flame

A. Slow

B. Slowly

C. Slower

D. Slowest

B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.
When the kerosene burned, the fuel
in the tank below would be
pressure, and
a small circular flame
would appear in the burner. The
valve had to be opened to let more
kerosene vapour to the burner and
pumping resumed. With the increase
in pressure, the burner flame would
spread a loud noise. To
lower the flame, the valve had to be
opened to reduce the
pressure and then tightened until the
desired flame size was achieved.
__ vyou wanted the flame to
be bigger, you had to hit the piston
again. Pump stoves are still in vogue.

would spread a loud
noise.

A. within B. with
C. during D. at

B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
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correct answer for the given blank
out of the four alternatives.

When the kerosene burned, the fuel

in the tank below would be

pressure, and

a small circular flame

would appear in the burner. The

valve had to be opened to let more
kerosene vapour to the burner and
pumping resumed. With the increase
in pressure, the burner flame would
spread a loud noise. To
lower the flame, the valve had to be
opened to reduce the

pressure and then tightened until the

desired flame size was achieved.
you wanted the flame to

be bigger, you had to hit the piston

again. Pump stoves are still in vogue.

had to be opened to
reduce

A. partly B. some
C. everything D. none

A

In the following passage, some of
the words have been left out. Read
the passage carefully and select the
correct answer for the given blank
out of the four alternatives.
be opened to let more kerosene
vapour to the burner and pumping
resumed. With the increase in
pressure, the burner flame would
spread a loud noise. To
lower the flame, the valve had to be
opened to reduce the
pressure and then tightened until the
desired flame size was achieved.
you wanted the flame to
be bigger, you had to hit the piston
again. Pump stoves are still in vogue.

was achieved. you
wanted the flame

A. if B. Nor
C. So D. Thus
A

In the following question, out of the
four alternatives, select the
alternative which best expresses the
meaning of the idiom/phrase.

A bone of contention

A. The only part to which two
arguing parties agree.

B. An issue over which there is
continuing disagreement.

C. A very expensive inherited
property.

D. To be happy with only a few
things.

B

1109.
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In the following question, out of the
four alternatives, select the
alternative which best expresses the
meaning of the idiom/phrase.

Zip your lip

A. Keep quiet about something.
B. To talk fast.

C. To not think before speaking.
D. The silence before a storm.
A

In the following question, out of the
four alternatives, select the
alternative which is the best
substitute of the words/sentence.

A military or political group that rules
a country after taking power by force
A. junta

B suffrage

C. Emancipation

D Egalitarinanism

C

In the following question, out of the
four alternatives, select the
alternative which is the best
substitute of the words/sentence.

A person who lives outside his native

country

A. Indigenous
B Natal

C. Expatriate
D Intrinsic

C

In the following question, out of the
four alternatives, select the
alternative which will improve the
bracketed part of the sentence. In
case no improvement is needed,
select "no improvement".

At the micro level, the dialectical
process of development in India (has

now heading) towards another
direction.

A. had now heading

B. now heading

C. is now heading

D. no improvement

C

In the following question, out of the
four alternatives, select the
alternative which will improve the
bracketed part of the sentence. In
case no improvement is needed,
select "no improvement".

I wondered what one would have
thought some 40 years ago if you
(had said) you could heat liquid
using a plastic container.

having said

had say

have saying

no improvement

oowp
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128.

Ans.
129.

Ans.
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A

The question below consists of a set
of labelled sentences. Out of the four
options given, select the most logical
order of the sentences to form a
coherent paragraph.

Cars were owned by

A-only a privileged few and

B-my class of society was

C-as yet untouched by it

A. ABC B. CBA
C. CAB D. BCA
A

In the following question, four words
are given out of which one word is
correctly spelt. Select the correctly

spelt word.

A. arogance
B. arroganse
C. aroganse
D. arrogance
D

afaf@a weT # Ru 7 [(erear & &

faegd vare 1?:?
A arg: e

B F S

C graafa

D JTIATT  # e

B

afaf@a weT # U 7 eheul H &
TrIftd §Ear 99/ 1 giAv)
14:16::22:7?

A. 26 B. 29
C. 24 D. 28
Cc

faf@a o 7 e 7 faweal & @
Tt 37eR/37eRT 1 AT
ART : BSU : : MRV : ?

A. KFT B. NSW
C. MFG D. NRV
B

ff@d wed & ffv 1 faeul & &
fawa ereg goa @1 giav

A. Car B. Cycle
C. Tyre D. Truck
C

A U R wed A, AR wEa oA o
T () F T 3R & FEA () F gt
AR & R TEar ¥ aF/fETE @ geetg
g I 3 e THEf@EATAE F MR W
A ¥ RU T Reedt F § BT #
qfe |

A. 10-121

Ans.
131.

Ans.
132.

Ans.
133.

Ans.
134.

Ans.
135.

Ans.
136.

Ans.
137.

12-169
14-225
16-279

voow

RTaf@d 9T # R 73 Jfwear & @
R 3ER/HERT @ gfav]

A. RTVX B. GIKM
C. DFIK D. LNPR
C

RITATRT eal Y Asgehier H 3= arel
A & IR ford]

1. Journey 2. Judge
3. Jingling 4. Jingle
5. Judgement

A. 32541

B. 53142

C. 43125

D. 15342

C

eIfaf@a ueeT # U ¥ fawedr & @
ag-—crsia:maﬁﬁtr.
11, 13, 16, 18, 21, ?

A. 29 B. 25
C. 27 D. 23
D

T A T I &, S § s U
Icd g v ¥ fewedt # @ @ @E
fahea gfaT, St g w1 QU ).
IM, JO, KQ, LS, ?

A. NV B. MU
C. MY D. NT
B

qSH F UF dfed H, N F T aid
BR & 33-ar § aur 3ifha &1 T g
B ¥ 25-af | 3% TAET I WIR

Seolel o 9ETd, Yl T T §iF SR
¥ 45-af g ST g| dfed & fhder o

87

A. 70 B. 71
C. 69 D. 74
C

fQu 74 fasedi & @ dg Usq gAT S
U I ersg F 37ERT T YA Fdh gl
SATITST FeheTl &

Threatened

A. Heart
B. Detain
C. Treat
D. Heated
B

s AfRkse w15 g A, “book is
tough” & “fu la mi”, fo@r srar &
“tough can easy” & “fu muk po”
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140.
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41.

Ans.
142.

for@r ST § “easy not book” @l
“ti po la”.fo@r Srar &j59 Fis HoT A
“tough” & His FT §?

A. mi B. Po
C. la D. fu
D

et fAfRaa &g s &, - X', @
Jefd HXar &, '+ '+ B UeiRd T §
S F T el aar & 3R X -

2-12+10x5+12=7

A. 32 B. 8
C. 4 D. 14
D

faf@a FHeor dad g 39
AR A T FA & T T ar
Regl ™ 33U H  Nco-acel

rfge?
1+14x30+20-10=12

A -and +

B +and x

C x and -

D. +and +

A

Ifg 8%2 = 3, 14*%18 = -2 3 18*2 =
8, ar 14*10 FT AT ATT &Y

A. 2 B. -5
C. -2 D. 6
A

N )

XXXXXXX,  XXXXXXX,  XXXxXXX,
XXXXXXX, XXXXXXX, .
A. XXXXXXX

B. XXXXXXX

C. XXXXXXX

D. XXXXXXX

C

T 3ifer Rerm  arer we Int Fir 3wy
Rerem & foorar § 3R 3@ #r 3R 6.5
R, Fr T Far &, T 98 39T a5
T Hs ST g 3R 3mY 1.5066 dh
ST &, T d affior i @ Az §
3R 3w 2.5 AL I STar §, 98 39er
Sl R® HsaT & 3R IW 1.5 T
ST 8] 39el Eae ufa & day &
g 3iTer 3719 Fgl g7

A. 9 iR 3

B. 4 .70, gfegor

Ans.
143.

Ans.
144,

Ans.
145.

Ans.
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C. 4 frAT. 3

D. 9 .. gfayor

C

T # ar Fua ffr i § Sms 3 ar

TRy | R I P & g MU

A & & Qe ®UT T ¥ Ag A8

AATTT: g dzar ¥ @eaT g@a &

3 AU T & fr Ru 1 et

A O Flaarpa ¥ FAReT T T U

ZART TE e ST ThaT FAHT €, IR

#1S 8l

FUA |: P o SISFT &7 IRAT argeT A

g

FYT 11: gt qfgd arseFg gl ¢

sy | g off QuRRy aget 78T g

oy |1 gefr gfgd Sufear aee g &

A. Faor fAsHy | g &

B. Faor fAsHy 11 T8 &

C. et sy | 3 i wer §

D. F o e I W OE AR A
SRy 11

B

fArfaf@a smepfa A, 3maa Recast it

YR AT &, g9 U B A

vefda &ar & s Afdert w1 gefia

T g, 3T T 3RS A wefia w=ar

8,|38RT #T ST AT HAF 3T AR A

WeRld #ar g gu fSeger AT A

iR &

N

A C —

A. FGDH B. FGK
C. FHID D. GK
A

TF IHA QAT T § A ¥ UE ug
I ¥ Ru & Rwedt #F ¥ a7 &
fahea gfaw, St 3rgshd & QT WY
MPQ, NQR, ORS, ?

A. QTU B. QST
C. PST D. PTU
C

Afaf@a oo § ¥ U I Ashedr &
A o 3 A HifS).



Ans.

147.

Ans.
148.

Ans.
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10,12,14,16,18,?

A. 22 B. 24
C. 20 D. 26
Cc

for R 1 uead #, i\ FEanst F IR
wE RU T | uEE WE A g
T genr wEdr ¥ R v ad/feae
¥ geefd g O 38 e asfaed &
IR W A 3| w1 Reedt 7 @

A (2,3,4)
B. (4,5,6)
C (6,7,8)
D (4,6,8)
D

Ife T gUur A MN @1 ) @1 I ar
& IRl 3 Tt A A - 3R
9ReT JMThid 1 Ter wfdfaes gef?

-
i
=
C.

fAFfaf@d 3 3mpfd & @ &l a1 °a
fQu 4 9ot mpfd & & ol v @
ST er ST HehdT?

EiENEEE

=] [=]
o

=7

A.
A
=l
[+
B.
. [
*4
X2
o
D.
Ans. D
150. UH AE Hdol HEAT WHE GaNT Gmr
T g, o F fawedr & ¥ Ry o A
ar rar g Aweul d fr ¥ dHwar-
g RN & & el ganT qRiT W E,
Sier fo feu ard ar meggt # & 3megp-l
F Ty IR dfFq fr F'ar 0 @ 4 AR
3Megg-Il &1 5 ¥ 9 §| I Teggl ¥ Uh
&R & Ugel 3TH Ufdd R s H
TIFH HEAT AN AT S HhAT g
30T & T ‘H & 21 3 34 3nfe
CART GRATAT T Hebell § AT ‘Q° & ‘95,
86 3Mfe EaRT gffAr ST el & ST
R ¥ 339A WA H U ersg ‘BURN’
& fU  |Hg A ggAee ol
Matrix I
o|1|2]3 |4
oM |1 |1 |1 ]|F
1|B|F|H|F|B
2L | D|A|B]|A
3]k|c|c|Db]|H
4| B|F|K|I|[K
Matrix II
5|67 ]8]09
5|z | x| w|Oo|z
6 | R|Y|S|W|O
7|lY|P|S]|W|R
8|Y|Q|R|Z]|Y
9 | N|Z|S|U]|S
A. 43,69,13,56
B. 30,75,11,97
C. 44,79,11,57
D. 44,79,11,57
Ans. C



151.

Ans.
152.

Ans.
153.

Ans.
154.

Ans.
155.

Ans.
156.

Ans.
157.

Ans.
158.

(3757+4357)and (3737+433%7) T
HAGGR AT HIfoiT|
A. (43 - 37)
B. (43+37)
C. (3737+433%7)
D 10
D
(61681x 61681-31681x 31681) 57
30000
AT AT HIfT
A. 93352
B. 94362
C. 93362
D. 95362
A

-

g & g a9 & fAw6x + 12y +9 =
03 2x + gy + 3 =0 & W I1w &
TOTET F 3T TEAT §?

A. 3 B. 4
C. 6 D. 9
B

X=-4,x =2,y =-23 y=3 @i
F PH IR Heldled 3HTHS H &T%hol
(TFATIRX ShI3AT H) FAT §27

A. 12 B. 24
C. 15 D. 60
Cc

AB gd & Sftar & 3R g " &% “o” B
Ife AB FI oS 20 AT, ON-(2V11)
cm g, a ga & B @A A) A«
Frfery.

A. 10 B. 12
C. 13 D. 15
B

gd T ged 9 Sfar # e 20.4
QAT 8 g @ BeE_ R

A 10.2 @A

B 10.2 &8 ¥ 57

C. 10.2 4. ¥ 99 A1 SR
D 10.2 e & +A

Teh AT & FaTg ddT dISg H HAT:
40% a1 70% ¥ SRIT I g AT F

&TheT H fohcel ierd 1 gefer grei?
A. 118 B. 110
C. 138 D. 128
C

6300 T T A, BaarC & 1/2: 1 : 3/5
& 3gard A fasnfara foar amm & B &

feeam (% #) &r 872
A. 3300 B. 2700

Ans.
159.

Ans.
160.

Ans.
161.

Ans.
162.

Ans.
163.

Ans.
164.

Ans.
165.

C. 3000 D. 4200
C

Udar Vsl %aen: 184000 § aor
224000 ¥ &1 TR fAder Fa T W
& fohan| afe af & 3d & gred go A
# U = fgear 20700 ¥ §, af 3% ganr
THCTRT AT 1T Fel oITeT (T ) T

g

A. 43200

B. 45900

C. 52300

D. 56400

B

g7 19 {Qvw geaisisr 3iaa s g2
A. 9.5 B. 15.5
C. 19 D. 38

C

TH T FYROT Ao X & 2 aut &
1392 & @ 3 auf 7 1488 T g S g
gfa a¥ saraT &1 X (wfaerd #) Far g2

A. 8 B. 10
C. 12 D. 8.5
A

Th A F fahT Hed 2808 % gl IS
aTeT gfaRrd 17% 8, a A &7 59 #ed

(FH) FT8?

A. 2288 B. 2300
C. 2400 D. 3285
C

T Hl @I 3ifhd Hed 3Hh FI Ao A
40% 38 §| Il HHT F 40% HT Fe
& URANd 520% #H o T §, o FiaRrd

FIT geI?

A. 33 B. 40
C. 25 D. 30
D

P & O Pl gy FUT I g7
I. 2v3 > 3V2

II. 4V2 > 2v/8

A. had |

B. Hadll

C. Tarla il

D. [ 3T II g&r

C

X, Y 947 Z U & F A 30, 40
dur 50 fealt & @ X TR & et
AT & R3N e § e ¥ R
AT Bt & 4 &1 9 sIsEHT el
ST §| S fohce feretial oxr g3 gram?

A. 660/47
B. 640/47



Ans.
166.

Ans.
167.

Ans.
168.

Ans.
169.

C. 680/47
D. 665/47
A

T YerEmer 72 A /ger fr afa @ Io
W & 1400 A #T gt T A A Tg
fohdey Ahs oaf?

A. 70 B. 80
C. 72 D. 84
A

Iqg 91§ A€ I 20173 U @Ad FHYeAr
& gy & fased weltlad #ar g sa
NG F LTI W IR Aeafaf@a
CET * £y &l

Expenditure (in Rs Lakhs) / 27 (@ TIA )

caU A a7 | A @ faRar o=
&2

A oA

B. HUSROT

C. AT

D AN FT SIRT

D
Igg 9 T¢ W 2017% T @A FUar

F qg &1 fAyed weRld #ar & 39
NG & WA HY IR A=afafEa
gt & I 3

Expenditure (in Rs Lakhs) / 209 (aT@ 92 &)

Labour / %,
50

Research /

S, 50

Tl oY (T & A ) FAT 872

A. 1200 B. 900
C. 1000 D. 1100
A

gg 9s ¢ W 20178 T @A FI=ir
& I F1 Oned veRld #Xar § 39
ING & IETIT R AR Aefaf@ad
geat & 3T 3|

Ans.
170.

Ans.

171.

Ans.
172.

Ans.
173.

Ans.
174.

Expenditure (in Rsukhs)/ =7 (ATE T H)

Labour / 5,

Research /

FFHUH, 50

AT F1 o @ wfalaf®ca F arer
AT & hog g HIOT HT A =330 g

A. 70 B. 75
C. 80 D. 90
B

Igg g IIE W 20178 AT @A FUar
F gy & fasea weltlg sar & sa
NG & IFegIT R AR Fefaf@a
geat & I &

Expenditure (in Rshkhs)l Y (AT T H)

Labour / %5,

Research /

U, 50

#7 AR e W fRRAr S arer

T Fel oG H vl gfderd g2
A. 10%

B. 12%
C. 7.5%
D. 8.33%
D

T 3ad & R{eer fir e 3R 3@
e wAe: 17 A B s@er aRam

(F#r A7) AT R

A. 92 B. 46
C. 42 D. 84
B

Teh YA @ &ABe 1925 a9 d.A. g
3% IRATT (H.37. &) Fr 0T |

A. 360 B. 80
C. 160 D. 180
D

T M H Tdg FT &6 5544 v
a.# g @ s (FA. #) AT &)

A. 42 B. 21
C. 84 D. 63
A

AABC & B 9X TH®IUT §| TG msA =
45° &, @ (cosecC + 1/v3) & A
AT F



Ans.
175.

Ans.
176.

Ans.
177.

Ans.
178.

179.

Ans.
180.

Ans.
181.

A. (3v2+1)/3
B. (2+V3)/2
C. 5/V3

D. (V6+1)/v3
D

AUVW & 0T V & AT 90°°% If:
cosecU = 13/12, 3k UV = 2.5a.5,
ar & VW, T oS (FA 7 ) g7

A. 6.5 B. 6

C. 4 D. 5.6
B

frfaf@d srdcgarar & @ Sl 3cucsT
¥ FRA W PRI Taffcd T@dr &2
A. gaftarer

B. HATSTATET

C. GIEG]

D. Gottarer 3R HATSarer gt

A

I @ T AT dr EuRem & faw
Hr-ar FfAfT arfsa & ardr o6
A. Ty dgerst dfafd

B. ehstarer afAfa
C. EEITIC

D. &a fafa

A

ﬁmﬁﬁaﬁa—mmaﬁwyw
TdeTes SATOT S T 872

A R

B AgEE
C.  woEm
D AT

A

B ardr afese
C ST ATESIE
D Sreeregr Afelg
A

A 7,05k, g2, HaTel
B 1,92, HITT, Ah
9 [ 9
C. T, HITST, 92T, ATh
9 [ 9
D T, HITST, 2Lk, g2ar
P 9 C
A
AR & fohda Tl & @Hg de g2
A. 7 B. 8
C. 9 D. 10

10

Ans.

82.

Ans.
183.

Ans.
184.

Ans.
185.

Ans.
186.

Ans.
187.

Ans.
188.

C

IR g s R 32
A AT TarESeT

B fasimaed ifear
C 3rageer S

D G el Ty
B

F Y O ¥ &1 Je" [URT Far

IRT §?

A. 2022 B. 2023
C. 2024 D. 2025
B
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